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Al 11,566,791
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= 31,787
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Al 1,660,116
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= 1,475,662
Al 1,660,116
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= 120,042
< 36,013
Al 84,029
307 21201 A 240,084 270,904 230,820
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< 36,013
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02 LB AAHFEX 240,084 270,904 230,820
Ostw WU2LA X & A 240,084
= 120,042
S 36,013
Al 84,029
sgel =X 58 3,460,629 408,030 3,052,599
= 75,770
J| 71,750
< 1,231,345
Al 2,081,764
sge Ay stki=s XN& 70,152 69,000 1,152
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== 2,400
Al 5,600
02 LA TEALEZ(0IETHR) 8,000 2,640 5,360
Od=sgo oy XN& 8,000
< 2,400
Al 5,600
I HEZEX Z208 &g 10,000 0 10,000
201 Let24d]| 10,000 0 10,000
01 At 2teltl 10,000 0 10,000
O2=0 HEZZA Z2 0 &g 10,000
sesE SAA JXl KEAY 2,865,277 0 2,865,277
< 1,146,111
Al 1,719,166
101 1A Hl 12,000 0 12,000
< 4,800
Al 7,200
04 JIZHHZ2XNHEE S 12,000 0 12,000
Os2+=g Mt ol 12,000
< 4,800
Al 7,200
201 Lt 3,000 0 3,000
< 1,200
Al 1,800
01 At 22l 3,000 0 3,000
o=l T #HAH 3,000
< 1,200
Al 1,800
202 04 Hl 2,077 0 2,077
= 831
Al 1,246
01 = LH 4 b 2,077 0 2,077
Os2a+4d T I 2,077
< 831
Al 1,246
301 LBEXZ 2,848,200 0 2,848,200
< 1,139,280
Al 1,708,920
12 JIE2 4= 2,848,200 0 2,848,200
osgx=¢ 2,848,200
< 1,139,280
Al 1,708,920
MM AN XRAY 143,500 0 143,500
J| 71,750
Al 71,750
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J| 71,750
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= 3,840
Al 8,960
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Al 8,960
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Al 8,960
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< 1,132
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= 1,132
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< 1,132
Al 2,640
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Al 3,500
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Al 3,500
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OHEEU=s F=HEZE M X3 5,000
< 1,500
Al 3,500

SSIIEtAIE 22l 2,316,072 1,687,907 628, 165
=2 920
J| 27,795
< 489,545
Al 1,797,812

sENE SFUYS N (IS8 sE2ZNHENSS 50,000 0 50,000

AX2)(HSAY)

= 25,000
Al 25,000

307 glz2tol & 50,000 0 50,000

_20_




<

n0

Kio

Hl w

50,000

A35

A35

A 35

A 240

A 240

A 240

H3r
Wikd
RIS

1,266

1,266

1,266

480

480

480

Off &t 24

4

25,000
25,000
50,000
50,000
25,000
25,000

Al

H

Al

1,231

770
138
323
1,231
770
138
323
1,231
1,231

Al
Al

770

i

138
323
240

H

Al

150

i

27
63
240

150

i

27
63
240
240

150

fir

K1

ol

-,

<0
R0
~J

oJ

ol

)
0
el
ol

RO

0
1]
10

2

Jreddl X

160

o
0
ok
]
=4
LY
Ho

307 glztol &

K
H
[
<0
R0
~J

ol

i
60
H
Ol
30
of
0
=

i)

=
=

o ws XA

=
=

Ot

=]
=

S

307 21201 &

Ki
iy
&l

<0
0
~J

oJ

A17,961
A17,961
A17,961

1,900
1,900
5,000

30, 111
28,211
28,211

27

63
12,150
12,150
10,250
10,250
10,250
10,250
10,250
1,900
1,900
1,900
1,900
1,900
5,000

Jl
Il
Jl
Jl
Il

=
=

2|

e

LEH = AL I
Falls]

04 DIt Z2 XS+

202 O Hl
01 =LHOI LI

X0l
101

[
=




<

n0

Kio

Hl w

165,000

165,000
165,000

75,000

75,000

75,000

268,000

268,000

268,000

366,100

H3r
Wikd
RIS

5,000

5,000

73,000

73,000
73,000

1,148,000

1,148,000
1,145,000

3,000

Off &t 24

5,000
5,000
5,000

73,000
73,000
73,000
73,000

1,313,000

1,313,000
1,310,000
1,120,000
20,000
40,000
10,000
50,000
50,000
20,000

3,000

3,000
75,000
37,500
37,500
75,000
37,500
37,500
75,000
75,000
37,500
37,500

268,000

I

Al

H

Al

H

Al

H

134,000
134,000

268,000

Al

H

134,000
134,000

268,000
268,000

Al

H

134,000
134,000

366,100

Al

292,880

H

30
0B
o)
oll

201

01 At 2t 2l bl

Kir

[l
ok
%0
&l
0

00
&l

401 AIEHIZ 2 THYI
01 A& HI

ZEHI

<
Ho

ok

)]
I
o

Of il &)

b

=]

=Skl
PN

mak BHl A (

SOl

401 AIEHIH
01 Al&HI
osx0t

ol

00
Rl

g

ol

ol
Kio
or)

2 &l

03 A2 2 THHI

o

H0

401 AIEHIZ 2 HYI

01 A& HI

ol

oF)

OJNBHY AHBS

S22 ALY

2oyl

=

=l

401 A& HI

=3 W42 Fyl

[e]3
=25

&

0l

O

01 A€ dl

73,220

Al
~ o0 _




SN eSS
M =EM2 MM REDC
S sYIIEAIE 2e| (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 366,100 0 366, 100
< 292,880
Al 73,220
01 A& HI 366,100 0 366, 100
Os=2 ¥ s+=23Hl 366,100
< 292,880
Al 73,220
SIS0t s+=2 34| 30,000 0 30,000
401 Al HIL ROl 30,000 0 30,000
01 A& HI 30,000 0 30,000
ot E0tE s+=2Fl 30,000
a0 s2EE 60,000 0 60,000
401 Al HI L 2 THHI 60,000 0 60,000
01 A& HI 60,000 0 60,000
oaNllE s22F 60,000
H==X |X2c 40,000 0 40,000
401 Al HI K 201 I 40,000 0 40,000
01 A& HI 40,000 0 40,000
OM=X |X 22| 40,000
SXZSBLIHA N A 22,351 0 22,351
J| 15,645
Al 6,706
101 @124 dl 22,351 0 22,351
J| 15,645
Al 6,706
04 JI2ZHHZ2XREES 22,351 0 22,351
O=sXNE2ZeldA HLA 22,351
J| 15,645
Al 6,706
CHAE 22l 29 640,800 290,800 350,000
< 350,000
Al 290,800
TOHAE AE RAE=> 90,800 90,800 0
201 2yt 2 Y| 90,800 90,800 0
01 At 22l 4,800 4,800 0
OZHAIE HAF BAEE 7¥ 4,800
02 =224l 86,000 86,000 0
OZHAIZ AIER2YE 2223 40,000
OZHAIE AIZEH RXE= 20,000
OAN&EsS Y tM AT 20,000
ORQSIH 2otAH SSALAHE 22 6,000
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SOHAE AlE A 200,000 200,000 0
401 Al HI K 201 I 200,000 200,000 0
01 A& Bl 200,000 200,000 0
O OHAIZ AlE i 200,000
CHAE 8ZZ At &X 350,000 0 350,000
= 350,000
401 Al HIZ 201 Y] 350,000 0 350,000
= 350,000
01 A& HI 350,000 0 350,000
OZOHAIZRSEEZAIL AMALE RS 350,000
< 350,000
ME - dFJ4Y SLEXR 1,830,461 1,285,000 545,461
dFsMIATHH I 4 N 1,830,461 1,285,000 545,461
dFsdHPATHHATE 29 1,830,461 1,085,000 745,461
306 3 1,830,461 1,085,000 745,461
01 &3 1,830,461 1,085,000 745,461
OXF=MIAALNHARE 2 1,830,461
HY2HAH (FESd =) 70,820 87,420 216,600
J2ZHl(dedsgt) 70,820 87,420 216,600
gy (dstd=gt) 70,820 87,420 216,600
201 Let24E] 36,380 45,780 A 9,400
01 At 22l 33,380 39,780 A 6,400
OgBt+=&H| 16,800
OZHAIE 29 3,500
o=l 10,080
oz2d+g 3,000
02 =224l 3,000 6,000 A 3,000
02223 % HA 3,000
202 044l 30,240 37,440 AT7,200
01 SLHOIYI 30,240 37,440 AT7,200
OJIegfF=8 0 30,240
203 YR =&t 4,200 4,200 0
04 FEN2ELRZ=LH| 4,200 4,200 0
ORN2IYSZ=AHI 350,000& »12& 4,200
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